ESITI PROVE FINALI

CLASSE 27A - “OLMO” - CORNAREDO
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GRAVEMENTE
INSUFFICIENTE € : ; ! ! !
INSUFFICIENTE 1 3 1 1 2 1 1 1 1
SUFFICIENTE 9 12 11 8 3 9 14 3 2
DISCRETO 4 5 2 8 11 5 2 3 3 1
BUONO 5 2 1 5 2 11 5 3 11 11 3
DISTINTO 1 1 1 3 9
OTTIMO 3 1 1 5
IA'“””' che hanno svolto |, 22 22 22 22 22 22 22 22 22 22
a prova
MEDIA DELLA CLASSE | 6,3 6 53 | 65 | 64 | 76 | 64 | 65 7 74 | 85
Alunni assenti
Alunni con voto 2 6 18 19 14 21 18 20 19 21 21 21 21

Percentuale alunni con
voto = 6
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ESITI PROVE FINALI
CLASSE 27B - “OLMO” - CORNAREDO
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GRAVEMENTE
INSUFFICIENTE ! ! 4 !
INSUFFICIENTE 5 1 3 2
SUFFICIENTE 6 9 12 10 5 6 9 1 1
DISCRETO 5 6 6 6 5 2 13 7 10
BUONO 3 5 2 2 4 8 8 8 1
DISTINTO 3 1 6 5 3 5 2
OTTIMO 1 4 1 19
IA'“””' che hanno svolto |, 22 22 22 22 22 22 22 22 22 22
a prova
MEDIA DELLA CLASSE | 68 | 66 6 65 | 74 | 82 | 69 | 65 | 79 | 74 | 98
Alunni assenti 1 1 1 1 1 1 1 1 1 1
Alunni con voto 2 6 19 20 18 19 22 22 19 22 22 22 22
Percentuale alunnicon | gaor | 9106 | 8296 | 86% | 100% | 100% | 86% | 100% | 100% | 100% | 100%

voto = 6







ESITI PROVE FINALI
CLASSE 27C - “OLMO” - CORNAREDO
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GRAVEMENTE
INSUFFICIENTE ! ! ! !
INSUFFICIENTE 1 1 2 2 1
SUFFICIENTE 5 2 6 5 1 1 5 8 2
DISCRETO 5 1 5 5 7 4 5 4 6
BUONO 3 5 5 1 2 8 1 4 9 4
DISTINTO 3 6 1 4 4 5 3 1 1 2
OTTIMO 1 3 1 2 1 7 16
IA'“””' che hanno svolto | 44 |\ 48 | 18 | 18 | 18 | 18 | 18 | 18 | 18 | 18 | 18
a prova
MEDIA DELLA CLASSE | 72 7,9 6,8 6,6 71 7,7 71 7 7,3 8,8 9,9
Alunni assenti
Alunni con voto 2 6 17 17 17 15 15 18 16 18 18 18 18
Percentuale alunnicon | 9490 | 9496 | 94% | 83% | 83% | 100% | 89% | 100% | 100% | 100% | 100%

voto = 6







